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1
15.8
1.22
3.02
0.84
0.81

2
14.9
1.25

2.7
0.86
0.83

3
15.3
1.4
3
0.73
0.71

4
15.6
1.15
3.04
0.79
0.76

5
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1.18
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0.79
0.76

10
14.7
1.34
3.01
0.83

0.8

0= 0.05 isine g5ty T2 ddayya laadiiee 3yhad) cans GV O3 s rslhadll

teY) Akl Al

2(5-1)
5-2

(Foos23) =9.55

UCLT? = * (Fo.05.2.3)

8
UCLT? = 3* (9.55) = 25.47

T2 = o (%0 ¢ (Ru = Ka) + (5% * (Kot = )’ — 25%12) (Rus — K)(Rai — Xo)|

T 822, - ()

) G Ayl cilplaal) Japaaily ¢ (1) ad; Adsal

-

n 5 5

(52,)(52,) — (52,,) (1.26)(0.81) — (0.78) _ 0.2406 =20.78

(829) * (X4 — X1)* = (1.26) * (15.8 — 15.25)% = 0.38
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1 0.38 0.004 0.062 6.7
2 0.15 0.050 0.135 1.4
3 0.00 0.002 0.004 0.03
4 0.15 0.007 0.050 2.3
5 0.03 0.002 0.011 0.4
6 0.03 0.018 -0.035 1.7
7 0.26 0.019 -0.107 7.9
8 0.26 0.005 0.058 4.2
9 0.00 0.004 0.005 0.03
10 0.38 0.003 -0.053 9.1
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